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MOCK TEST 30

Consider the following statements.

Assertion (A): The state government has been erapaito fix and alter boundaries of the NationakPa
with approval from concerned authority.

Reason (R): National Parks are large tracts af lghich can be regulated and controlled only bystate
governments.

In the context of the above, which of these isexif

A. Ais correct, and R is an appropriate explamabf A.

B. A is correct, but R is not an appropriate erptéon of A.

C. Ais correct, but R is incorrect.

D. Both A and R are incorrect.

Aravallis in Rajasthan and Srisailam forests iPAndhra Pradesh are known for hosting

A. Uranium mines B. Gold mines C. Diamond mines Pxtinum mines
Consider the following map showing the distribtion of a particular crop in India.
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The above most likely refers to the area under?

A. Rice B. Wheat C. Pulses D. Sorghum
Ecozones are a method of dividing up the Earth'surface based on

A. Common evolutionary history B. Niche habitat®rotic species

C. Endemism and variety D. Geographic landscapes

Yavanas are mentioned in detail in Sangam litature refer to

A. Some Greek kingdoms

B. Elaborate religious arrangements made by Kings

C. Horse chariots that were used for Ashvamedbiafisas

D. Foreign conquests that lead to local cultusairailation

It is a Biosphere Reserve in the Satpura Rangef Central India. A part of World Network of
Biosphere Reserves, UNESCO, it is an important trasition zone between the forest species of
western and eastern India. The reserve is?

A. Pachmarhi Biosphere Reserve B. Simlipal Biosplieserve

C. Dibru-Saikhowa Reserve D. Betul Biosphere Rese

Consider the following about Global Atmospher&Vatch (GAW).

1. It is non-governmental organization having astdtative status with the United Nations.

2. It works to provide the scientific communitytivihe means to predict future atmospheric states.
3. It keeps a watch on ozone depletion and thease of ultraviolet (UV) radiation on earth.

Select the correct answer using the codes below.

A. 1 and 2 only B. 2 and 3 only C. lonly D. larid 3
Project ReWeave, recently in news, was launchésgt
A. Google X B. Microsoft India C. PayPal India D. Airtel Payments Bank

Consider the following about sulh-i-kul introduwced during Akbar's regime.

1. The ideal of sulh-i kul was implemented thriowtate policies.

2. Sulh-i-kul allowed all religions and schoofstlmought to flourish provided they don’t impinge etate
authority.

Which of the above is/are correct?

A. 1 only B. 2 only C. Both 1 and 2 D. None



